
(a) curlf = ∇× f is meaningless because f is a scalar field.

(b) gradf is a vector field.

(c) divF is a scalar field.

(d) curl (gradf) is a vector field.

(e) gradF is meaningless because F is not a scalar field.

(f) grad(divF) is a vector field.

(g) div(gradf) is a scalar field.

(h) grad(divf) is meaningless because f is a scalar field.

(i) curl(curlF) is a vector field.

(j) div(divF) is meaningless because div F is a scalar field.

(k) (gradf) × (divF) is meaningless because divF is a scalar field.

(l) div(curl(gradf)) is a scalar field.


